

Pay Estimate Created Date: September 3, 2024

Progress Estimate N 4	annoon		240315-F05 Microsurfacing Cont	ractors, L	Pay Period Start Augu LC Pay Period End Sept		Original Contract Amo 24 Net Change Order Amo Current Contract Amo	ount \$0.00	
Approval Date								By User	
September 3, 2024	Generated and Approved (and should be considered Draft) at the Project Office Level by								
September 3, 2024	er 3, Reviewed and Approved (and should be considered Draft) at the Resident Engineer Level by								
September 4, 2024			ed and Approved at the Cen	tral Office C	Controllers Office Level by	ramses1			
Original Completio	n Date	Current Co	mpletion Date	Act	ctual Completion Date % of Current Contract Amount Complete				
November 1, 20	24	Novemb	ber 1, 2024				75.51%		
	Contract	Informational Dat	tes		Milestones				
Date Description	Original	Completion Date	Current Completi	on Date	No Milestones Exist for C	Contract			
Acceptance Date									
Awarded Date	April 3, 20)24	April 3, 2024						
Letting Date	March 15, 2024		March 15, 2024						
Notice to Proceed Date	May 6, 20)24	May 6, 2024						
Open to Traffic Date									
Work Began Date									

Contract Total Pay For Estimate No. 4								
	This Estimate	Previous	To Date					
240315-F05								
Total Posted Items Pay	\$16,123.46	\$716,734.20	\$732,857.66					
Gross Item Adjustments	(\$16,123.46)	(\$26,375.13)	(\$42,498.59)					
Incentive	\$0.00	\$0.00	\$0.00					
Disincentive	\$0.00	\$0.00	\$0.00					
Liquidated Damage	\$0.00	\$0.00	\$0.00					
Other Contract Adjustments	\$0.00	\$0.00	\$0.00					
		\$690,359.07	\$690,359.07					
Contract Total Payable This Estimate:	\$0.00							

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Current Installed Qty	Current Installed Amount					
JSL0039	0080	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	LF	\$30.000	60	\$1,800.00			
	0100	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	EA	\$1,400.000	2	\$2,800.00			
	0120	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	LF	\$0.130	88,642	\$11,523.46			
Project JSL	0039 - Tota	d					\$16,123.46			
Overall - To	Overall - Total									

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract Line Item Adjustments This Estimate

Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JSL0039	0080	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	Material			-60	\$30.00	(\$1,800.00)
	0100	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	Material			-2	\$1,400.00	(\$2,800.00)
	0120	4 IN. YELLOW STANDARD	Material			-88,642	\$0.13	(\$11,523.46)



Pay Estimate Created Date: September 3, 2024

Progre	ss Esti 4	mate Number	Contract ID Prime Contra	240315-F0 ctor Microsurfac		Pay Period Start August 16, 2024 s, LLC Pay Period End September 1, 2024	Original Contr Net Change O Current Contr	rder Amount	\$0.00
Project Number	Line No.	Item Des	scription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
JSL0039		WATERBORN MARKING P	E PAVEMENT AINT, TYPE P BEADS						
	0250	SH	-FLAT SHEET	MaterialCredit			164.9	\$33.30	\$5,491.17
	0250	SH	-FLAT SHEET	Material			-164.9	\$33.30	(\$5,491.17)
	0270		SHF-FLAT SHEET FLUORESCENT				713.25	\$29.28	\$20,883.96
	0270		-FLAT SHEET UORESCENT	Material			-713.25	\$29.28	(\$20,883.96)
Total									(\$16,123.46)



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

	Contract Project Information										
Project Number	Federal Proj. Number	Project Description	Route	County	Location of Work						
JSL0039	FAS- S503(050)	Resurface, pavement repairs and sign replacement	Ρ	JEFFERSON	from Route A to Route 110 near DeSoto						

Totals by Job Numbers

_0039	This Estimate	Previous	To Date
Posted Item Pay	\$16,123.46	\$716,734.20	\$732,857.66
Gross Item Adjustments	(\$16,123.46)	(\$26,375.13)	(\$42,498.59)
Gross Item Pay	\$0.00	\$690,359.07	\$690,359.07
Incentive	\$0.00	\$0.00	\$0.00
Disincentive	\$0.00	\$0.00	\$0.00
Liquidated Damages	\$0.00	\$0.00	\$0.00
Other Contract Adjustments	\$0.00	\$0.00	\$0.00



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project JSL0039, Item 6200015, Project Item Line Number 0080, Material Set 620001596, Material 1048PMPFWH - Preformed Thermoplastic Marking Tape Wh, Acceptance Action Generic 1048PMPFWH is insufficient.	Waiting on material Certs.	BOWMAM2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JSL0039, Item 6200033, Project Item Line Number 0100, Material Set 620003396, Material 1048PMPFWH - Preformed Thermoplastic Marking Tape Wh, Acceptance Action Generic 1048PMPFWH is insufficient.	Waiting on material Certs.	BOWMAM2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JSL0039, Item 6206001C, Project Item Line Number 0120, Material Set 6206001C96, Material 1048PMTRWBYL - Marking Paint Acrylic Waterborne Yellow, Acceptance Action Generic 1048PMTRWBYL is insufficient.	Waiting on material Certs.	BOWMAM2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JSL0039, Item 6206001C, Project Item Line Number 0120, Material Set 6206001C96, Material 1048PMRBTP - Reflective Glass Beads Type P Perf Spec, Acceptance Action Generic 1048PMRBTP is insufficient.	Waiting on material Certs.	BOWMAM2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JSL0039, Item 9035004A, Project Item Line Number 0250, Material Set 9035004A96, Material 1042SM - Sign Material, Acceptance Action Generic 1042SM is insufficient.	Working with STL. Materials to resolve.	BOWMAM2	Acknowledged
Estimate Exception Type: Insufficient Materials: Project JSL0039, Item 9035069A, Project Item Line Number 0270, Material Set 9035069A96, Material 1042SM - Sign Material, Acceptance Action Generic 1042SM is insufficient.	Working with STL. Materials to resolve.	BOWMAM2	Acknowledged



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract n.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
0315-F05	JSL0039	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.50	\$59,396.12	\$29,698.06
		0001	0020	4071005	TACK COAT	11,261.00	0.00	11,261.00	GAL	7,392.00	\$2.94	\$21,732.4
		0001	0030	4131000	MICROSURFACING, TYPE II	138,474.00	0.00	138,474.00	SQYD	126,417.00	\$3.40	\$429,817.8
		0001	0040	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$2,500.00	\$0.0
		0001	0050	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	4.00	0.00	4.00	EA	4.00	\$3,000.00	\$12,000.00
		0001	0060	6169901	MISC.LUMP SUM TEMPORARY TRAFFIC CONTROL	1.00	0.00	1.00	LS	0.50	\$13,326.00	\$6,663.00
		0001	0070	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$85,000.00	\$85,000.0
		0001	0080	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	60.00	0.00	60.00	LF	60.00	\$30.00	\$1,800.0
		0001	0090	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	2.00	0.00	2.00	EA	0.00	\$300.00	\$0.0
		0001	0100	6200033	PREFORMED THERMOPLASTIC PAVEMENT MARKING, R/R CROSSING MARKER	2.00	0.00	2.00	EA	2.00	\$1,400.00	\$2,800.0
		0001 0110 6206000		6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	90,907.00	0.00	90,907.00	LF	90,907.00	\$0.14	\$12,726.9
		0001	0120	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	88,642.00	0.00	88,642.00	LF	88,642.00	\$0.13	\$11,523.4
		0001	0130	6207002	PAVEMENT MARKING REMOVAL (SYMBOLS)	7.00	0.00	7.00	EA	0.00	\$100.00	\$0.0
		0001	0140	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	13,348.00	0.00	13,348.00	SQYD	13,348.00	\$2.94	\$39,243.1
		0001	0150	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	183.00	0.00	183.00	SQYD	183.00	\$2.25	\$411.7
		0001	0160	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.50	\$10,000.00	\$5,000.0
		0040	0170	9031010	CONCRETE FOOTINGS, EMBEDDED	1.80	0.00	1.80	CUYD	0.00	\$1,514.21	\$0.0
		0040	0180	9031220	PIPE POSTS	650.00	0.00	650.00	LB	0.00	\$14.94	\$0.0
		0040	0190	9031250A	U-CHANNEL POST, 3 LB	576.00	0.00	576.00	LF	303.00	\$27.55	\$8,347.6
		0040	0200	9031270A	2 IN. PSST POST - 12 GA.	2,110.00	0.00	2,110.00	LF	967.00	\$25.95	\$25,093.6
		0040	0210	9031271A	DRIVEN POST ANCHOR FOR 2 IN. PSST - 12 GA.	194.00	0.00	194.00	EA	88.00	\$157.28	\$13,840.6
		0040	0220	9031280	2.5 IN. PSST POST - 12 GA.	409.00	0.00	409.00	LF	184.75	\$32.03	\$5,917.5
		0040	0230	9031281A	DRIVEN POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	32.00	0.00	32.00	EA	14.00	\$501.90	\$7,026.6
		0040	0240	9031285	CONCRETE POST ANCHOR FOR 2.5 IN. PSST 7 GA.	3.00	0.00	3.00	EA	1.00	\$566.76	\$566.7
		0040	0250	9035004A	SH-FLAT SHEET	490.00	0.00	490.00	SQFT	164.90	\$33.30	\$5,491.1
		0040	0260	9035011A	ST-STRUCTURAL	24.00	0.00	24.00	SQFT	0.00	\$63.50	\$0.0
		0040	0270	9035069A	SHF-FLAT SHEET FLUORESCENT	1,501.00	0.00	1,501.00	SQFT	713.25	\$29.28	\$20,883.9
		0040	0280	9039902	MISC.RELOCATE EXISTING SIGN POST	8.00	0.00	8.00	EA	0.00	\$736.61	\$0.0
	Project J	SL0039 - To	otal Value	e Posted to D	ate as of Report Generated Date							\$745,584.6
315-F05 Ove	erall - Total	Value Post	ted to Dat	te as of Repo	ort Generated Date							\$745,584.



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: JSL0039 DWR DWR Approval Date DWR From Offset/ Station/ Distance Log Mile To Offset/ Station/ Distance Log Mile Line Item Number Code Description Comments Location 60.00 LF Route P 0080 6200015 PREF THERMO PVMT MARK, 24 IN WHIT 8/26/24 8/26/24 .04 8.600 0100 6200033 PREF THERMO PVMT MARK, R/R XING 8/26/24 8/26/24 2.00 EA Route P R.R. Crossing .04 8.600 0120 6206001C 4 IN. YELLOW WATERBORNE PAVEMENT MARKING 8/26/24 8/26/24 88,642.00 LF Route P C/L Stripe .04 8.600

The information below this line are details for Construction Signs (if applicable). No Data Available



Line Item Adjustments by Estimate

Sep 5, 2024

Contract ID: 240315-F05

Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
SL0039	0080	PREF THERMO PVMT MARK,	Material		4	Sep 3, 2024	SYSTEM	(\$1,800.00)	
		24 IN WHIT		- Total				(\$1,800.00)	
			Material - Tota					(\$1,800.00)	
	0080 -	Total						(\$1,800.00)	
	0100	PREF THERMO PVMT MARK, R/R XING	Material		4	Sep 3, 2024	SYSTEM	(\$2,800.00)	
				- Total				(\$2,800.00)	
			Material - Tota	l				(\$2,800.00)	
	0100 -							(\$2,800.00)	
	0120	4 IN. YELLOW WATERBORNE PAVEMENT	Material		4	Sep 3, 2024	SYSTEM	(\$11,523.46)	
		MARKING		- Total				(\$11,523.46)	
			Material - Total					(\$11,523.46)	
	0120 -							(\$11,523.46)	
	0250	SH-FLAT SHEET			2	Aug 2, 2024	SYSTEM	(\$5,491.17)	
					3	Aug 19, 2024	SYSTEM	(\$5,491.17)	
					4	Sep 3, 2024	SYSTEM	(\$5,491.17)	
				- Total				(\$16,473.51)	
			Material - Total					(\$16,473.51)	
			MaterialCredit		3	Aug 19, 2024	SYSTEM	\$5,491.17	
					4	Sep 3, 2024	SYSTEM	\$5,491.17	
				- Total				\$10,982.34	
			MaterialCredit - Total					\$10,982.34	
	0250 -							(\$5,491.17)	
	0270	SHF-FLAT SHEET FLUORESCENT	Material		2	Aug 2, 2024	SYSTEM	(\$15,994.20)	
					3	Aug 19, 2024	SYSTEM	(\$20,883.96)	
					4	Sep 3, 2024	SYSTEM	(\$20,883.96)	
				- Total				(\$57,762.12)	
			Material - Tota					(\$57,762.12)	
			MaterialCredit		3	Aug 19, 2024	SYSTEM	\$15,994.20	
					4	Sep 3, 2024	SYSTEM	\$20,883.96	
				- Total				\$36,878.16	
			MaterialCredit	- Total				\$36,878.16	
	0270 -	Total						(\$20,883.96)	
SL0039 -	- Total							(\$42,498.59)	
Overall - "	Total							(\$42,498.59)	



There are no contract adjustments to display for this contract.